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17ADBERBN=-5E1°CTO. 20%TEtEL-EE
BARRNEOEE=0COFE

EENDERKRRETZEALZER) X1E=#1 5kPaCEHEL-1BE
1A L EIDABZERIE=220kPa+ ( R HRFFD KUE-—3.5E) X 1.5kPa
A B C D E F G H I P

BE | By |RoEE |asmy| sk [tassE ss2| 1B |fEee| sanE| =25E | #Ee
1A —4.1 0 0.20% 1.8 -3.5 0 0 0 220.0 0
2R -4.2 0 0.20% 1.8 =50 (1.5) 15 -2.3 -0.5 2191 -04
3R -0.8 0 0.20% 04 -2.6 24 1.5 3.6 -0.5 2240 1.8
47 5.7 0 0.20% -2.7 3.5 6.1 15 9.2 -0.5 233.0 59
5H 10.5 0 0.20% -5.0 9.2 5.7 15 8.6 -0.5 238.4 8.4
6H 14.5 0 0.20% -6.9 13.5 4.3 1.5 6.5 -0.5 239.3 8.8
7H 18.3 0 0.20% -8.7 17.2 3.7 15 5.6 -0.5 2374 7.9
8H 19.1 0 0.20% -8.8 19.4 2.2 15 3.3 -0.5 231.6 53
9H 155 0 0.20% -6.8 17.3 (2.1) 15 -3.2 -0.5 219.1| -04
10A 9.8 0 0.20% -4.0 11.8 (5.5) 1.5 -8.3 -0.5 2035 -7.5
118 44 0 0.20% -1.7 6.9 (4.9) 1.5 -14 -0.5 191.7] -12.9
128 -1.2 0 0.20% 04 0.2 (6.7) 1.5 -10.1 -0.5 1794 -184
18 —4.1 0 0.20% 0.0 -3.5 3.7) 1.5 -5.6 -0.5 173.8] -21.0
&F 1.3 -40.2] -18.3% 0 -6.0 -46.2

RRFETHARN (C)=(ADEHTEA-RNOEEB) X0. 2% x EZE (P)
ZESREP)=RIODAZERE (P)-AIADBERREN (C)-(REDEEH+RIREND
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17 ADBEARFBN-KE21°CTO. 2% TEHEL-ES
BRRNEORE=-0CDIFE

I7—k547—ERGEL-ER) X1E=#1 kPaTHELI-ES
1B LD RE=220kPa+ ( BRI DSE—3.5F) X 1.1kPa
A B C D E F G H I P
BB | BEs | mosE|azms| axr [tass ss=| 1B [ssxz ani| =5 | #H%
1H —4.1 0 0.20% 1.8 -3.5 0 0 0 220.0 0
28 -4.2 0 0.20% 1.8 -5.0 (1.5) 1.1 -1.7 -05 219.7] -0.2
38 -0.8 0 0.20% 0.4 -2.6 24 1.1 2.6 -05 223.6 1.7
47 5.7 0 0.20% -2.6 3.5 6.1 1.1 6.7 -05 230.2 4.6
5H 10.5 0 0.20% -4.9 9.2 5.7 1.1 6.3 -05 2334 6.1
6H 14.5 0 0.20% -6.7 13.5 4.3 1.1 4.7 -05 232.7 58
78 18.3 0 0.20% -84 17.2 3.7 1.1 41 -05 2295 4.3
8H 19.1 0 0.20% -8.5 194 2.2 1.1 2.4 -05 223.0 14
9H 15.5 0 0.20% —6.6 17.3 2.1) 1.1 -2.3 -05 211.7] -3.8
10H 9.8 0 0.20% -3.9 11.8 (5.5) 1.1 -6.1 -0.5 198.6] -9.7
118 4.4 0 0.20% -1.7 6.9 (4.9) 1.1 -54 -0.5 188.8| -14.2
12H -1.2 0 0.20% 0.4 0.2 (6.7) 1.1 -74 -05 179.3| -185
1H -4 .1 0 0.20% 0.0 -3.5 (3.7) 1.1 -4 1 -0.5 17511 -204
&F 7.3 -389| -17.7% 0 -6.0 -449
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BARRNEOEE=5COEE

EBDZER (KAXRESAEER)

XMAICTED R (RRRIZEF

mRIEIZXDFEN : -0.5kPa

{ = 7=
EIEER\.

B BEE=-1.0kPa

MIE=$91 5kPaTEHE L84S
1A EAIDFAEER E=-220kPa+ ( BIRFFDRE-—3.5%F) X 1.5kPa

[EE£10%% X 5G5S EHHAE)

A B C D E F G H I P
AB | A¥Y | RORE [BRZRE| 8RR |[LAKE| JEE | 1B |SEFE| AR | ZXE | BH%
5 0.20% -3.5 0 0 0 220.0 0
5 -5.0 (1.5) 1.5 -2.3 -0.5 217.3] -1.3
5 0.20% -2.6 24 1.5 3.6 -0.5 2204 0.2
5 0.20% -0.3 3.9 6.1 1.5 9.2 -0.5 229.0 441
5H 10.5 5 0.20% -2.6 9.2 5.7 1.5 8.6 -0.5 236.7] 1.6
6 H 14.5 5 0.20% -4.6 13.5 4.3 1.5 6.5 -0.5 24011 941
7H 18.3 5 0.20% —6.4 17.2 3.7 1.5 5.6 -0.5 240.6] 9.3
8H 19.1 5 0.20% —6.7 19.4 2.2 1.5 3.3 -0.5 2370 7.7
9H 15.5 5 0.20% -4.8 17.3 (2.1) 1.5 -3.2 -0.5 226.6|] 3.0
10H 9.8 5 0.20% -20 11.8 (5.5) 1.5 -8.3 -0.5 213.1| -3.1
5 6.9 (4.9) 1.5 -1.4 -0.5 203.2| -7.6
5 0.2 (6.7) 1.5 -10.1 -0.5 1927 —-124
5 0.20% 0.0 -3.5 (3.7 1.5 -5.6 -0.5 186.6] —15.2
-27.4| —12.4% 0 —-6.0 -33.4
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NEBRASAEDIGE=RAILL v ILILOER| (EH x K5g) /it BE=—7F
17 ADBEARFBN-KE21°CTO. 2% TEHEL-ES
BRRNEOERE=-5CDIGE

I7—FoA7—ERAEFEELI-ZER) X1E=#1 1kPaTEHEL-EE
1A LA ERIE=220kPa+ (RO K E-—3.5%F) X 1.1kPa
A B C D E F G H I P
BE | BEy [ RomE sy axk | tasE| sez| 1B |zl sk | =5F | #BE%
5 0.20% -35 0 0 0 220.0 0
5 0.20% =50 (1.5) 1.1 -1.7 -0.5 21791 -1.0
5 0.20% -2.6 24 1.1 26 -0.5 220.0 0.0
5 0.20% -0.3 3.5 6.1 1.1 6.7 -0.5 226.2 2.8
5H 10.5 5 0.20% -25 9.2 5.7 1.1 6.3 -0.5 231.7 53
6H 14.5 5 0.20% 44 13.5 4.3 1.1 4.7 -0.5 233.3 6.1
7H 18.3 5 0.20% -6.2 17.2 3.7 1.1 4.1 -0.5 2325 5.7
8H 19.1 5 0.20% -6.4 19.4 2.2 1.1 24 -0.5 228.2 3.7
9H 155 5 0.20% -4.6 17.3 (2.1) 1.1 -2.3 -0.5 219.01 -05
10A 9.8 5 0.20% -2.0 11.8 (5.5) 1.1 -6.1 -0.5 2078 -b5.5
118 5 0.20% 6.9 (4.9) 1.1 -5.4 -0.5 199.9] -9.1
128 5 0.20% 0.2 (6.7) 1.1 =14 -0.5 19211 —-12.7
18 —4.1 5 0.20% 0.0 -35 3.7) 1.1 -4 1 -0.5 187.5] -14.8
=3 7.3 -26.5| -12.1% of -60] -825
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17ADBER

Bh=521°CT0. 20% Tit&E
BARRNEOEE=0COFE

BB | BEY | ROEE |BA®KE| 200[ 210[ 220 230[ 240 250( 260[ 270( 280[ 290( 300
18 -4.1 0 0.20%| -1.6| -1.7 -1.8[ -19| -20[ -21| -21| -22| -23| -24| -25
2H -4.2 0 0.20%| -1.7| -1.8| -1.8[ -19| -20[ -21| -22| -23| -24| -24| -25
3H -0.8 0 0.20%| -03| -03| -04 -04| -04| -04| -04| -04| -04| -05| -05
48 5.7 0 0.20% 23| 24| 25 26|/ 27 29 30f 31| 32 33 34
5H 10.5 0 0.20%| 42| 44| 46| 48 50 53 55 571 59 61| 6.3
6H 145 0 020%| 58/ 61| 64 67 70 73 75 78 81| 84| 87
7R 18.3 0 020% 73| 77| 81| 84| 88 92 95 99| 102 106| 11.0
8H 19.1 0 020%| 76| 80| 84 88 92 96/ 99 103 107 111] 115
9H 15.5 0 020% 62| 65/ 68 71| 74/ 78/ 81| 84| 87 90[ 93
10AR 9.8 0 0.20% 39| 41| 43| 45| 47| 49| 51| 53] 55 57 59
118 44 0 020% 1.8 1.8 19 20 21| 22| 23| 24 25 26| 26
128 -1.2 0 0.20%| -05( -05[ -05( -0.6| -0.6| -0.6| -06| -06| -0.7| -0.7| -0.7
F 7.3 -35.0| -36.8| -38.5| -40.3| -42.0| -43.8| -45.5| -47.3| -49.0| -50.8| -52.5
17 BDOBRREN=-5:B1°CTO. 20%T:tE

BRARNEOERE=-5CDEHE

AH

AT

RORE

0.20% 0.3 0.3 0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.4
5A 10.5 0.20% 22 2.3 24 2.5 2.6 2.8 29 3.0 3.1 3.2 3.3
6H 14.5 0.20% 3.8 4.0 4.2 44 4.6 48 4.9 5.1 5.3 55 5.7
;) 18.3 0.20% 5.3 5.6 5.9 6.1 6.4 6.7 6.9 712 1.4 1.1 8.0
8AH 19.1 0.20% 5.6 59 6.2 6.5 6.8 7.1 7.3 7.6 7.9 8.2 8.5
9H 15.5 0.20% 4.2 44 4.6 4.8 5.0 5.3 5.5 5.7 5.9 6.1 6.3
10AH 9.8 0.20% 1.9 2.0 21 2.2 2.3 24 2.5 2.6 2.7 2.8 29
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15BOBEARRBN-R;E21°CTO. 18%TEtE
BARRNEOEE=0COFE

BB | BEY | ROEE |BA®KE| 200 210[ 220 230[ 240 250( 260[ 270( 280[ 290( 300
18 -4.1 0 0.18%| -15| -15/ -16[ -1.7| -18| -18] -19| -20| -21| -21| -22
28 -4.2 0 0.18%| -15| -16| -1.7( -1.7| -1.8] -19] -20[ -20| -21| -22| -23
38 -0.8 0 0.18%| -03| -03| -03[ -03| -03[ -04| -04( -04| -04| -04| -04
48 5.7 0 0.18% 21| 22| 23| 24| 25 26| 27 28 29| 30[ 31
58 10.5 0 0.18%| 38| 40| 42 43| 45 47| 49| 51| 53/ 55| 57
6H 145 0 0.18%| 52| 55| 57 60| 63 65 68 70 73 76/ 78
7R 18.3 0 018%| 66| 69| 72 76 79/ 82 86/ 89 92 96/ 99
8H 19.1 0 0.18%| 69| 72 76 79/ 83 86 89 93 96/ 100| 103
9A 15.5 0 0.18%| 56( 59| 6.1 64 67| 70 73 75| 78/ 81 8.4
10AR 9.8 0 0.18%| 35| 37| 39| 41| 42| 44| 46| 48 49 51 53
118 44 0 o18%| 16| 1.7 1.7 18] 19 20| 21| 21| 22 23] 24
128 -1.2 0 0.18%| -04| -05| -05[ -05| -05| -05| -06| -06| -06| -06( -06
F 7.3 -315| -33.1| -34.7| -36.2| —-37.8| -39.4| -41.0| -42.5| -44.1| -45.7| —47.3
17 BDOBRREN=-5:B1°CTO. 22%T:tE

BRARNEOERE=-5CDEHE

AH

AT

ROmE

BRFRE

5 0.22%

5 0.22%

5 0.22%

5 0.22% 0.3 0.3 0.3 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.5
58 10.5 5 0.22% 24 2.5 2.7 2.8 29 3.0 3.1 3.3 3.4 3.5 3.6
6H 14.5 5 0.22% 4.2 44 4.6 4.8 5.0 5.2 5.4 5.6 5.9 6.1 6.3
1R 18.3 5 0.22% 5.9 6.1 6.4 6.7 7.0 7.3 7.6 7.9 8.2 8.5 8.8
8AH 19.1 5 0.22% 6.2 6.5 6.8 7.1 14 7.8 8.1 8.4 8.7 9.0 9.3
9H 15.5 5 0.22% 4.6 49 5.1 53 5.5 5.8 6.0 6.2 6.5 6.7 6.9
10AH 9.8 5 0.22% 21 22 2.3 24 2.5 2.6 2.7 29 3.0 3.1 3.2

5

5

0.22%

0.22%

-27.0| -28.3| -29.6| —30.8] —32.1




